
 

Exam many of you got Try Again

2 Full Pass

1 Partral Pass

0 Try Again

This is OK High standards multiple triee

No permanent impact on your grade yet

Exams 2 3 have same format Prairie learn
terminal environment

drawn from pset questions
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1ˢᵗ try 2ⁿᵈ try

Lab is a great place for practice



execup replaces the
current process takes over

with the given command

esgio.li globals

mom
no printf output

new CLA



execupl vs fork

execup fork
Creates a new process withReplaces current process

with different code behavior
the same code behavior

fork exec creates a new process with new code behavior

common pattern call fork then in child process whereforke

returned 0 call exec

Olivia has recording of this



There is no way in C to get the size of an

array from its address

POSSIBLE
WRITENOT Solution pass

TO size information

along w arrays
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Pointers
Addresses are always 8 bytes long

run was NULL or

Looking up address

I

OXFFEL



addsdebug

gccget_middle.c oget

middlie8atgwind.lgetmiddle

run w valgrind line of segfault

invalid access

IT
stack trace





Variable/Role Address Data
0/8 1/9 2/A 3/B 4/C 5/D 6/E 7/F

0x...00

0x...08

0x...10

0x...18

0x...20

0x...28

0x...30

0x...38

0x...40

0x...48

0x...50

0x...58

0x...60

0x...68

0x...70

0x...78

0x...80

0x...88

0x...90

0x...98

0x...A0

0x...A8

0x...B0

0x...B8

0x...C0

0x...C8

0x...D0

0x...D8

0x...E0

0x...E8

0x...F0

0x...F8

Ema Ya this t.EE kH
can are.EE
or above

FEES
toReturn Ox 30

f

EE

Malloc size returns a pointer
to heap memory that is size bytes long
and is not currently in use





Variable/Role Address Data
0/8 1/9 2/A 3/B 4/C 5/D 6/E 7/F

0x...88

0x...90

0x...98

0x...A0

0x...A8

0x...B0

0x...B8

0x...C0

0x...C8

0x...D0

0x...D8

0x...E0

0x...E8

0x...F0

0x...F8

0x...00

0x...08

0x...10

0x...18

0x...20

0x...28

0x...30

0x...38

0x...40

0x...48

0x...50

0x...58

0x...60

0x...68

0x...70

0x...78

0x...80

0 555

thiresitlitftab.calbemEEmdgakn
1100009 IE muiEia

hO

ofbytes

0 7
87555

Eliot
0 555 670

main
y 0 555 710

E 0 555 730

concat result oxrox.ec oxfo

really main should be higher address lower in pic



Variable/Role Address Data
0/8 1/9 2/A 3/B 4/C 5/D 6/E 7/F

0x...00

0x...08

0x...10

0x...18

0x...20

0x...28

0x...30

0x...38

0x...40

0x...48

0x...50

0x...58

0x...60

0x...68

0x...70

0x...78

0x...80

0x...88

0x...90

0x...98

0x...A0

0x...A8

0x...B0

0x...B8

0x...C0

0x...C8

0x...D0

0x...D8

0x...E0

0x...E8

0x...F0

0x...F8

g


